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(A) ST T

Which film was declared best
feature film in 63™ National Film
Awards ?

(A) Bajrangi Bhaijaan

(B) Piku

(C) Bahubali

(D) Tanu Weds Manu

Abel Prize is associated with
(A) Mathematics

(B) History

(C) Geography

(D) None of these

ASHA Yojana is related with
(A) MNREGA Labourers

(B) Social Health Workers

(C) Non-Resident Indians

(D) Socially Backward Workers

Quit India Movement was started in
which Viceroy’s regime ?

(A) Lord Mountbatten

(B) Lord Dalhousie

(C) Lord Irwin

- (D) Lord Linlithgow

Which shareholders are real owner
of company ?

(A) Prefernce shareholders

(B) Debenture holders

(C) Equity shareholders

(D) None of these

Which metropolitan city of India was

badly affected by heavy rainfall

during the last week of November
20157

(A) Greater Mumbai
(B) Kolkata
(C) Chennai
(D) Vishakhapatnam

1.
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7.  Which of the following is @
landlocked sea ?
(A) Timor Sea
(B) ArafuraSea
(C) Greenland Sea
(D) Aral Sea

8. Which scripture was called his
‘mother’ by Gandhiji ?
(A) Ramayana
(B) The New Testament -
(C) Bhagwat Gita
(D) The Holy Quran

9. Harshavardhana was defeated by
"~ (A) Prabhakaravardhana
(B) Pulakesin li
(C) Narasimhavarman Pallava
(D) Sasanka

10. A Presidential Ordinance can remain

in force

(A) For three months

(B) For six months
(C) For nine months

(D) Indefinitely

11. Select the one which is different
from the other three responses.

(A) 36-63 (B) 47-73
(C) 58-85 (D) 69-96

12. Choose the correct alternative from
the given ones that will complete the

series.

ABKLUV, CDOMNWX, ___, GHQRAB
(A) EFOPXY (B) FEPQYZ

(C) EFOPYZ (D) GHPOYZ

13. Select the related word from the
given alternatives.
Fast : Hunger :: Race: ? .
(A) Smartness (B) Strength

(C) Horse (D) Fatigue
7/2015 (19)

7. Prefefiad o @ B AR LTS € ?

(A) fem AR
(B) STUET HN
.(C) TiwiE @l

8. et % few Wi U9 H SEN AT

el 91?7
(A) THET
.(B

(D)

9. gt fepg vl fepar o 2

A

qerchier 11
C

.(D) YRUE

10. meﬂﬁmﬁmﬁr%%{q

. A @S ?
A) T TR
B) ®E weR
(C) =t wH
(D) @ffer et & feT

11. 39 faweq & 99 HifAC S I A A

= et |
(C) 58-85 (D) 69-96

12. fao o faeedt # @ 9% wel fashew YT
ST 3TH I
ABKLUV, CDMNWX, , GHQRAB
~ (A) EFOPXY (B) FEPQYZ
) EFOPYZ (D) GHPOYZ

13. ﬁqmﬁmﬁﬁ@mﬁawﬁ
9T |
W‘Iﬁ::ﬁ%‘:?
(A) ST (B) TR
(C) wdrgT @




14.

15.

16.

17.

18.

- 19,

~ (C) 8237693

"(A) Cook

If EXPANSION is written as 248537693
in a certain code, how would PENSION
be written in that code ?

(A) 8236793 (B) 8237639

(D) 8233769

Which one set of letters when
sequentially placed at the gaps in the
given letter series shall complete it ?
a__yz__ Xy__ax__zax_z

(A) xayzy (B) xayyz

(C) xazyy (D) axzyy

If ‘cook’ is called ‘butler’, ‘butler is
called ‘manager’, ‘manager’ is called
‘teacher’, ‘teacher’ is called ‘clerk’ and
‘clerk’ is called ‘principal’, who will
teach in aclass ?

(B) Butler

(C) Teacher (D) Clerk

A man pointing to a photograph says,
“The lady in the photograph is my
nephew’s maternal grandmother.” How is
the lady in the photograph related to the
man’s sister who has no other sister ?

(A) Cousin ¥ .
(B) Sister-in law

"(C) Mother -
" (D) Mother-in-law

B is twice as old as A but twice
younger than F. C is half the age of A
but twice the age of D. Which two
persons form the pair of oldest and

youngest ?
(A) Fand A (B) FandD
(C) BandF (D) FandC

Choose one word which can be
formed from the letters of the given
word.
CONSTANTINOPLE
(A) CONTINUE
(C) CONSTANCE

(B) CONSCIENCE
(D) CONTENT

14.

15.

16.

17.

18.

19.

(A) 8236793
8237693

.(C) CONSTANCE

of Rt oz wor # EXPANSION ferr
o & 248537693, T W F& W

PENSION o STt ferl ST 2
(B) 8237639

(D) 8233769

apt H B G AR @k_'ﬁ @M w®
FHER @ @ § T T GGl H [
HUT ? S
a’yz xylax’zax’z

(8) xayyz

A) xayz ;
ﬁ?) xazyy (D) axzyy

-

Ifc ‘cook’ H ‘butler’ FHET WM ¢
‘butler H ‘manager FeT ST E
‘manager’ ® ‘teacher’ @l Sl %,
‘teacher’ &I ‘clerk’ el Il & 3R
‘clerk’ @I ‘principal’ T STTaT &, at e
T I I ? :
(A) Cook

(C) Teacher

(B) Butler
D) Clerk 9
AT 9IRT
FA §C Fedl €, “TIEUE § a8 Aieel
W 9 & TE 1 BRWE W a9
Aieen 39 Af #t 987 ¥ f6g TER
iy ¢, et B gadt ae @ o
(A) s
B) it

[(C) e

(D) W

BIWAAI QX Mgt g F 2 2
TUBRITIC A W A HT AT Y

D A H AT 1 $ A

ARSI S TR e

T § 2
(A) F3iRA (B) F3RD -
D) FaRC

(C) BaRF

forshedt /O v w1 T W AR
RT T ¥ & oprt /@ s ST g

(B) CONSCIENCE
h
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20.

21.

22.

23.

24,

25.

If in a certain language, ITNIETAM is
the code for INTIMATE, which word
has the code TREVNIETARBI ?

(A) INVRETIBRATE
(B) INVERTIBARTE
(C) INVERTIBRETA
(D) INVERTIBRATE

0.863 X 0.637 + 0.863 X 0.363 = ?
(A) 1 (B) 0.863
(C) 8.63 (D) 1.226

The average speed of a cyclist who
covers first, second and third km at
20, 16 and 12 km/hr respectively (in
kmph)is :

(A) 16.24 " (B) 16

(C) 15.66 (D) 15.32

The sum of all positive integral
multiples of 5 less than 100 is :

-(A) 950 (B) 1230

(C) 760 (D) 875"

A piece of work can be done by 6 men
and 5 women in 6 days or 3 men and 4
women in 10 days. It can be done by 9
men and 15 women in :

(A) 1day (B) 2days
(C) 3days (D) 4days -

If sunil rows at the rate of 5 kmph in

still water and his rate against the
current is 3.5 kmph, then Sunil’s rate
along the current is :

(A) 4.25 kmph
(B) 6 kmph

(€) 6.5 kmph
(D) 8.5 kmph
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20.

21.

22.

23,

24.

25.

Rt fardiw ST A, ITNIETAM T %2 ¢
INTIMATE & e | @t forg s &

T TREVNIETARBI FZ ¥ |
(A) INVRETIBRATE
(B) INVERTIBARTE %
(C) INVERTIBRETA*

) INVERTIBRATE

0.863 X 0.637 +0.863 X 0.363 = ?

(C) 8.63 (D) 1.226
e ERheT WaAR I SiEd =1l S 7o,

fedta e et femt, st X SEART: 20,
16 @1 12 FeHi/EE & @9 T ¢

(feritee o) R T ?

(A) 16.24 (B) 16
(C) 15.66
100 ¥ F9 I 3 Tl &7 QUi e
1 T i U % U €
(8) 1230
(C) 760 (D) 875

USH F H 6 EH o 5 R e
6 e o 3w 3 et &K 4 3RE 10
fel & W € | e 9 et A
15 FRal & g e A F @@ o
foran smam 2

(A) 173 (B) 2f=

B 45
s g 5 TorAt/d. = nfy | fer s@
H A @l & 7 39 g F A
i 3.5 FRH/H. &, @ geter ® urt @t
feem o wifer =rar &t 2
(A) 4.25 kmph

(B) 6 kmph

<(C) 6.5 kmph -

(D) 8.5 kmph
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27.

28.

29.

30.

31.

32.

There are two taps to fill a tank while a

- third to empty it. When the third tap is

closed, they can fill the tank in 10
minutes and 12 minutes respectively. If
all the three tapes be opened, the tank is
filled in 15 minutes. If the first two taps
are closed, in what time can the third
tap empty the tank when it is full ?

(A) 7 min. -

(B) 9 min. and 32 sec.

(C) 8 min. and 34 sec.

(D) 6min.

The LCM of two numbers is 2310 and
their HCF is 30. If one of the number
is 7 x 30, find the other number.

(A) 220 (B) 330

(C) 425 (D) 512

10 years ago, Chandravati’'s mother
was 4 times older than her daughter.
After 10 years, the mother will be
twice older than the daughter. The
present age of Chandravati is

(A) 5years (B) 10 years

(C) 20vyears (D) 30vyears

A lent ¥ 600 to B for 2 years and
T 150 to C for 4 years and received
altogether from both ¥ 90 as simple
interest. The rate of interest is

- (A) 4% (B) 5%

(C) 10% (D) 12%

Ifa:b=2:3andb:c=5:7, then
a:c=?

(A) 10:21 (B) 21:10
(C)-5:7 -(D) 10:5-.

Turpentine oil is extracted from
which tree ?

(A) Teak (B) Oak .

(C) Rose-wood (D) Pine

In which part of the Earth value of

N

g" is maximum ?

(A) Equator

(B) Poles

(C) Tropic of Capricorn
(D) Equal at everywhere

26, T i @ WA F A T E ey

27.

.28.

29,

30.

32.

3 @t H & T | T A
rﬁ’ﬁa@mmﬁwmu
fe & o A € | A AT T g e
St 15 fore o ¥Rl © | 9 et < e
o< @ ot dea T TR S A e

T el # A 2310 U

T AE.H, 30 € |uﬁﬁﬁw
T 7 % 30 &, & gE gE

A 220 - [B330%

(C) 425 (D) 512

10 a9 YRt STal i AT S G
SH ¥ =R T S 4l 1 10 9N F v
AT G @ 3W H AT @ | =egTerdt b
I 39 bt & ?

(A) 5 & (B) 10a

(0) 307

A, Bl ¥ 600 3t = 3 feqw e 2 150 C
F AR T & frq SuR 2 ¥ | 57 g
fremet ST/ 2 90 armr s 3 =g
W WIS AT ¥ | SR e

(A) 4% (B) 5% ]
(C) 10% D) 12%

11l‘|§‘a|:b=2:3_~"3=|"R'b:1:=5:7,_?‘IT

a:c=?

(B) 21:10

(D) 10:5
W-W@W?ﬁﬁm%mm%?
(C) vitvm

W%ﬁ?ﬂ TP 1)
el HIT WY g 1 A e

A ar

(C) Twx Yar
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33.

34.

35.

36.

37.

38.

30,

40.

Which organ is called “Graveyard of
RBC” ?

(A) Spleen
(C) Heart

(B) Liver
(D) Kidney

Greenockite is the ore of which
metal ?

(A) Cadmium
(C) Calcium

.(B) Gallium
(D) Zirconium

Rain drops are spherical in shapes
due to

(A) Capillarity

(B) Gravity

-. (C) Surface Tension

(D) None of these

Pulsars are

(A) stars moving towards the Earth
(B) stars moving away from Earth
(C) rapidly spinning neutron stars

_ (D) high.temperature stars

Angle of friction and angle of repose are
(A) equal to each other

(B) not equal to each other

(C) proportional to each other

(D) None of these

The mode of
amphibians is

(A) buccal

(B) cutaneous

(C) lung

(D) all of the above

respiration in

Baking Soda is

(A) Sodium carbonate

(B) Sodium bicarbonate

(C) Sodium sulphate
(D) Potassium carbonate

Acid rain contains

(A) Sulphuric acid only

(B) Hydrochloric acid only

(C) Nitric acid and hydrochloric acid

(D) Both Sulphuric acid and_nitric
acid

7/2015 (19)

33.

34.

35.

g 3 @ RBC (ﬁlﬁﬁﬁ'{'aﬂﬁm&ﬁ)
T B 8T S & 2

-(B) T
(C) &F (D) g
fhree fofg T T ST € 2
(B) e
(C) <hiewan (D) STehitad
mmﬁaﬂﬁ%fﬁﬁﬂﬂwﬁ
Bl & ?
(A) %ﬁeﬁﬁ

37.

38.

39.

(A) gmﬁﬁaﬁrw@aﬁ

(B% E'@%Gﬂ@'ﬁﬁ'
-(D) ¥ A9HF

B T SR Rt oy Frfataa §

3 e s o ?

(B) W%gmqﬁ

(C) T W & THRUIH
(D) T | I ot TE -
Iygadl § vaud it fag ae g

(A) 7@
() ==




41.

42.

43.

-45,

(A) lite re
litracy
A

-(A) ancients

ENGLISH LANGUAGE

Our
used crude implements. (Fill in the
blanks)

(B) antecedents

EE ancestors !

Choose the word that best expresses
the meaning of the underlined word.
| can only speculate that he left
willingly.
{A) judge
guess

(C) antipodes .

(i._%) arglﬁ'e"
{D) think -

Select the substitution that best
expresses opposite meaning of the
underlined word : i

~ His face bore a blank look all the

time while | was telling him about
that exciting incident.

(A) a passive

“(B) an expressive

C) a passionate

. (D) a mysterious

. Choose the alternative which best

expresses the meaning of the given
idiom/phrase :
To eat one’s heart out
(A) tocry
(B) tolaugh

(C) to suffer silently

(D) pretend to suffer

Find the wrongly spelt word ;
(B) literal
(D) literary

lived in caves and -

46.

47

48.

49.

50.

=1

Fill in the blanks)
. off; near

In the following question, a sentence has
been split into six parts. The first and the
last parts have been numbered 1 and 6.
Remaining four parts have been named P,
Q, R and S. While parts 1 and 6 are in
proper sequence, parts P, Q, Rand S have
been jumbled up. Rearrange the jumbled
parts to make a meaningful sentence.
1. Pakistan cannot claim to
P. notdone too badly
Q. battlefield but it has
R. over Indiain the
S. have any decisive victory

war.

6. in the publicity
") SaPR |
(€) PRSQ D) QPSR |

Choose the most suitable ‘one word’
for the following phrase[expression :
A person who travels to a sacred

place as an act of religious devotion
(&) Hermit  fB) Pilgrim 4
(C) Saint D) Mendicant

In the following question, find out
which part of the sentence has an
error. If there is no mistake, the
answer is ‘No error’. |

The road to famous monument passes
through a forest. :

(A) The road _
C) passes through a forest.

(D) No error

Suddenly she turned away the
window and stood the glass.
(B) from; before
(D) with;to

Find the correctly spelt word.

(A) Comemorate

(B) Commemmorate

(C) Comemmorate
Commemorate
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51.

52.

53.

=t v

‘DU’ Vg W GHN &

A] &%
(C) oo
(D) 3TN

e dfra A S W e?
wwﬁmﬁﬁmw
Wie @l | -
maﬁm'aﬁaﬁﬁaﬁn‘rﬁqm
e 1l

| wﬁaﬁaﬁq@mwa’m
HAEA BN |

ﬁawrarmwﬁrﬁ@ra’rﬁmm
AT I

(B) =1
() ™
(D) T

Frefefa & & Suwt Weq e S
2 "

(A) i (B) I9mHA

ks SRR

‘et § ¥
(A) ofg @l

[=a-

(C) <t ufy
(D) o1 Wiy
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55.

56.

57.

53.

BTl A TR AT e 3 ¥
(A) el fra oot &t anferTag ST
(B) frdl =axg @ &Afm & aFed
feaa @
@ammﬂf

(D) T st 31 ferg) =t T HT

s’ 1 faei &

(A) Feife (B) 3

(D) e

S 1 wErgaT &

. (A) _ 3

(8) Tfeuit
(c) ufcsrar

@ I Tl ¥ §
(A) afoES
(B) dvitsTs®

.(D)mﬁryﬁﬁ

59.

60.

Ferm it vfEd, foet ot 3= =
T T T e A, T, g9 )
Foret e | I T STEDR E 7
(A) Iadr (B) U

frafafea aeg-ave & faw o m
forspedi # / T W% g0

ot o W 9} O W




61.

62.

63.

64.

65."

66.

67.

68..

69.

Address book contains
(A) E-mail address
(B) Phone numbers
(C) People names

(D) All of the above

ports connect special types
of music instruments to sound cards.
(A) BUS (B) CPU
(C) UsB (D) MIDI

A DNS translates a domain name
into what ?
(A) Binary
(C) 1P

(B) Hex
(D) URL

What is'Windows Explorer?
(A) A drive

(B) A web browser

(C) A network

(D) A file manager

Computers process binary numbers,
which are composed of

(A) 1sand 2s (B) 1sand 10s
(C) 2sand3s (D) Os and1s

When was the first e-mail sent ?
(A) 1963 (B) 1969
(C) 1971 (D) 1974

Main memory is also known as
(A) Auxiliary memory

(B) Primary memory

(C) Secondary memory

(D) None of the above

The term CRM means

(A) Customer Relationship
Management

(B) Customer Retention Manager

(C) Customer’s Relative Meet

(D) Channel Root Market

In which year was the @ chosen for
its use in e-mail address ?

(A) 1972 (B) 1976
(C). 1980 (D) 1984

10

61, TRHIHURME

(A) 31T TSH
(B) W FeR
(Cf @ & A
62. We =i g % faew
mﬁaﬁmm@_@mﬁ%l
(A) BUS (B) CPU
(D) MIDI

63. UH DNS Fedl s W &I feud

| ST Al € ?
(A) @ - (B) Hex
C) 1P . (D) URL

64. fareis THIIRT 4T § 2

(A) sr=F
(B) o9 A
(C) ek
. e
65. HI FIMURT W& H UhT I E,
Wt fF e W geea Eidar €
(A) 1s 3T 2s (B) 1s 3 10s
(C) 2s 3R 3s ) Os 3R 1s
66. ETT S-Hel e ST 7T 97 2
A) 1963 (B) - 1969-
{C]_1971 D) 1974
67. T& Wfd ® W T q F T Y
A) TEEEH
(C) feciaes wfer
(D) 3udw o | HE &
68. CRM U< & a7f & "
FEH AR fHeme
(B) &I
- (C) wend fefes die
~ +(D) T T HHE
69. Thw i 9w W o 3w ¥ fw @
1 99 fomar a1 9
{B) 1976
(C) 1980 +(D) 1984
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70.

71.
72.
73.
‘s 74.

75.

76.

What is the storage area for e-mail
messages called ?

(A) A folder
(C) A directory

(B) A mail box
(D) The hard disk

The patterns of printed lines on most
products are called

(A) Scanners

_ (B) Stripping
(C) Bar codes

(D) OCR

Which American computer company
is called Big Blue ?

(A) 1BM

(B) Compagq Corp
(C) Microsoft

(D) Tandy Svenson

The software that allows users to
surf the Internet is called a/an

(A) Search Engine

(B) Internet Service Provider (ISP)
(C) Internet Surfing Provider

(D) Browser

A term relating to sending data to a
satellite-is.

(A) downlink
(C) demodulate

(B) modulate
(D) uplink

Whatis MAC? e
(A) A computer made by Apple
() Memory Address Corruption
(C) Mediocre Apple Computer
(D) Media Access Control .

Match the following :

List—1 List—1l
A. Kanuwa Fair 1. Faridabad -
B. Fair of Bhakt 2. Gngaoln
" . Pooran Mal B
C. SachchaSauda 3. lind
Fair
D. Fair of Chhadies 4. Karqa}_
(sticks)
Codes :
A B C D
(A) 1 2 3 4
B 4 3 2 1
Ej:ngca> 2 44
D).~ -, 2 “Ug 2
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70.

71.

72.

73.

- 74.

75.

e Gevil & forw ue &7 a1 Feerar

T 7
(A) wiTeT l%ﬁﬁm g
(C) srRERAl (D)
sy SRl T e {3 e
FEA &
- (A) EHAY () fefim
T o o wgE S fam =g
(A IBM.) (8)
(C) mrhE (D) <8t wEA
I WIGHER Sl SuATEdl i e @ (A€
fereron) S Y SR T ¥, FEerel &
(A) &9

(B) ¥t Wiaw WieEsT (ISP)
{C) ¥ T TarEsT

et SuE @} e T Y G IS €
(A) eT3ATeTR .(B) Hisg
() fediggee  [Ho) e

MAC &1 & ?
+(A) T ERT A U e

el

A. T B Hell 1. WIgER
B. 7RI UM 1 Ao 2. TSI
C. gear HigT Hell 3, SR
D. g Ael 4. HE
%!

A B C D
EEI:E;;z 3 4
B) 4 3 2 1
© 3 1 2 a4
D) 4 2 3 1




77.

78.

79.

 80.

81.

- 82.

83.

84.

85.

According to Haryana Government’s

Sports Policy, 2015 the amount of

money will be given to a gold medal
winner in the Commonwealth Games is
(A) T15crores (B) ¥ 20lakhs
(C) T 1crore (D) T 50 lakhs

Which one of the following countries
was the partner nation in 29"
Soorajkund Fair, 2015 ? ‘

(A) China (B) Turkey

(C) Lebnon (D) USA

Thaneshwar was the capital city
of which of the following famous

kings ?

(A) Harshwardhan

(B) Ashok .

(C) Chandragupta Vikramaditya
(D) Kanishka

According to the Census of 2011,
which district in Haryana has the
highest number of women ?

(A) Gurgaon (B) Karnal

(C) Bhiwani (D) Faridabad

Accordingm'to area, which is the
biggest district of Haryana ?

(A) Bhiwani (B) Rewari

(C) Jind (D) Jhajjar:

In which district of Haryana Gandhiji
was arrested on 30" July, 1919 ?
(A) Hisar (B) Sonipat
(C) Rohtak (D) Panipat

In sports, name of Vikas Yadav is
associated with
(A) Wrestling
(C) Boxing

(8) Shot-put
(D) Pole Vault

The highest point of the Morni hills is
known as

(A) Karoh peak
(C) Tosa peak

(B) Garoh peak
(D) Grasher peak

First time the President’s rule was
imposed in Haryana
(A) Nov., 1967
(C) Dec., 1989

(8) April, 1977
(D) April, 1991
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77. &R@OT TWHK H G i, 2015 F

STER HiEad Gal o W@l ugeh faster
:IGEUNES
(B) ¥20m@
(D) ZT50@mE

78. 299 G Weml, 2015 | FWeHFl <
i AT 91 ?

(A) = .(B) T
(D) qEuT
79. WY T gEvel AH$ TR H9 wEE
IS 0| TSTHIAT 9T ?
(B) Wi
(C) == fashmfeca
(D) HTSH y

80. Y 2011 W SOMT % STER FEON
¥ g fet o wfeemstl &A@

HaYgF & 2
(A) T - (B)_ T

81. &% & UK, ENANT H FEH gl

[STeq[ Shid 9 %?
{A) FerL (B) Y&TE
(C) si= (D) =R
82. 30 SIeTs, 1919 i Tt i shamm &
for Tt o e foam T 2
(B) wiige
(C) (D) urHIUd
83, Wall & &7 # foehry Aga 1 A9 Heifua &
(A)_F3 +(B) ¥MEqE
(D) G e

84. TITH TETS! I I fag FeeTe &

®) T
{C) TR (D) W¥R =
85. shamm ® wyw TR gl e @ e

(] &
|<{A) e, 1967 (B) e, 1977
C) Teuw=R, 1989 (D) a7, 1991
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86.

87.

91.

92

88.

89.

90.

93.

All of the followings are related with
poetry, except :

(A) Surendra Sharma

(B) Raja Ram Shastri

(C) Tulsi Das Sharma

(D) Alhar Bikaneri

Nuh comes under the district of
(A) Faridabad (B) Mewat
(C) Gurgaon (D) Rewari

"Haryana Chief Minister, Manohar Lal

Khattar on “August 4, 2015 launched
which scheme in Chandigarh ?

~ (A) Thari Pension Thare Pass

(B) Aapki Beti Hamari Beti
(C) Beti Bachao Beti Padhao
(D) Biomass Project

Who was awarded with the title of
‘Rao Bahadur’ ?

(A) Bansi Lal

(B) Chaudhary Devi Lal

(C) Sir Chhotu Ram

(D) Omprakash Chautala .

Kalpana Chawla died in the space
mission on

(A) 1%Jan. 2003 (B) 5" Feb., 2003
(C) 3“Feb., 2003 (D) 1Feb., 2003

Which medal did Saina Nehwal won
in the London Olympics, 2012 ?

(A) Gold medal

(B) Silver medal

(C) -Bronze medal

(D) Silver and Bronze medals

“Vande Matram Yojana' is associated
with

(A) Soldiers

(B) Farmers

(C) Women

(D) Freedom Fighters

The High Court at Lahore Was
established by the Act of

(A) GOI Act, 1919

(B) GOI Act, 1915

(C) GOI Act, 1935

(D) GOI Act, 1947

7/2015 (19)
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86. Fy=r ot Freg @ Faifua €, foaa

x(A) waf &
TSR
(C) qerHrRTE

(D) 3Teeg Ml &

87. ¢ fop Foret o 3T
8)

(A) wETER s
(C) e (D)
88, eRawT % Yo HAl AT T W 7
4 3TE, 2015 H Mg W HHA G
e s
A) R
4B)
(C) ¥ Fanaf < TS
(D) SR UREHT

89. “TATEGT % Rade N I WAl g & 7
(A) S e
(B) et 3 et

90. THeUAT A i geg ey B § g8
(B) 5 wad, 2003
(C) 3 W, 2003 (D) 1 W=, 2003

91. T 2012 % <A 3iius H HEAT
JedTel = I AT UG WIS fharer 7
*(A) @l ugH
B) WId 4Yceh
AC) S T

D) ToTd AN HIA TGh

92. ‘G WIGRH ANHT" H HaY ¥ :
(A) i
B) hEEHLE
ey afeerai &

/(D) AT |- |




94.

95.

96.

97.

98.

99.

100.

Assertion (A) : Haryanais a plain state.
Reason (R) :lts altitude is 700-900 ft.

Codes:

(A) Both (A) and (R) are true.
(8) Both (A)and (R) are false.
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Which of the following city was
established by Firoz Shah Tughlag ?

(A) Kaithal (B) Hisar

(C) Faridabad (D) Sirsa

Fazal Ali Commission’s report was
presented in the year

(A) 1953 (B) 1955

(C) 1956 (D) 1957

The maximum part of Haryana is
dominated by which of the following soil ?
(A) Alluvial soil

(B) Desert soil

(C) Sandy-loamy soil

(D) Loamy soil

Devi Shankar Prabhakar is associated
with which of the following field ?

(A) Dance (B) Music

(C) Theatre (D) Cinema

The capital city of Chandigarh derives
its name from \

(A) The River Chandi

(B) Fort of Chandi Das

(C) Mountain Chandi

(D) Chandi Mandir

Which of the following is correctly
matched ?
Lakes District
(A) Badkhal — Faridabad
(B) Bhindawas - Kurukshetra
(C) Brahma - Rohtak
Sarovar
(D) Damdama - Sirsa

94.

95.

96.

97.

98.

99.

aﬁm(m:aﬁmvnuﬂ?ﬂaﬁm%n
HWOT (R) @ FFH a1 700-900 Y |
?:

(A) (A)ﬂﬂT(R)ﬁFﬁ‘HﬁT-%l

(B) (A)W(R)ﬁmﬁ'l

Q) () T R (R) FEAR |
D) (A)m%m(n)m% |

ReIoTelTE Qe 3 S & e bl T
Hgr?

(A) g

-(C) (D) faar _
Tt 3Tt ST Bt R e W &% ?
« (A) @ 1953 ~B) o

(C) ad 1956 (D) o 1957
efeaqmom a1 aifere T e A @ feE g
T 1§ ?

(A) FBRI &

(B) WO &

AC) 1 =

defeimr wEe B F @ few &9 @
Hefua € ? |

100. fr=r o @ i W gfera & ?
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et foet
T o |-
(8) fremEm™ ~ o
(€) FOWE - Uea®
(D) ZwEHT - oz
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9. Candidates are warned not to carry handkerchief, any mobile

phone, any type of watch, belt, wear ornaments like ring,
chain, earring etc., electronic or communication device, Pen,
Pencil, Eraser, Sharpner and correcting Fluid in the examina-
tion centre. If any candidate is found possessing any, such item,
he/she will not be allowed to enter, in thie examination centre.
Candidate found possessing mobile phone and any other aiding
material as mentioned above in the examination room will be
treated a serious vidlatjon and it will amount to cancellation of

Use of Eraser, nail, blade, white fluid/whitener etc., smudging,
scratching or damaging in any manner the OMR answer sheet

sheet shall not be evaluated. - | |
10. The written examination will be supervised by doing frisking
before allowing entry into Examination Centre, using CCTV
Cameras, Biometric Attendance process by capturing.the
Biometric thumb impression and Photograph of the
candidates during Examination, Videography and Jammers etc. -
-~ shall be used in the Examination Hall/Examination Centre to
stop' copying and im nation etc. S
11. Cahdidate'qirequest'rﬁ ange the examination Centre and Seat
in the Examination Hall}shall not be entertained. i
12. The scanned -photograph of*the candidate ,on his/her Admit
Card or attendance-sheet will be tallied-with the candidate
appearing in the'examination by the invigilator. In the évent:
of any discrepancy in the identification and verification of the
candidate and photographs, the candidate shall not be allowed
“to sit in the &xamination and be liable for criminal
.. prosecution.: il D "
13: The! OMR answer shett consists of three copies, the original
copy, the commission copy and the, carididate’s copy. Do not
separate or displace them. Do not darken the bubbles in three
copies of OMR sheets separately. Candidate must handover
the OMR Sheet without séparating the three copies to the
invigilator at the end of examination. Invigiltor will hand

are allowed to take away this Test Booklet with them."

14. Each question has four alternative answer of which only one is _
correct. For each question, darken only one circle, which 'ever-
you think is the correct answer on the OMR answer sheet with

_ only Blue/Black Ball Pen provided by the Commission.

- - Pencil should not be used for darkening the circle. If more than

" one.circle is found darkened, that answer will not be evaluated.

15. No candidate shall be allowed to go to the toilet/washroom,

"\ dufing first and last thirty minutes of the examination., |

16. No candidaté will be allowed to leave the OMR sheet blank. If

any OMR sheet is found blank, it shall be crossed by the
invigilator with his/her signature and mentioning "Cangelled"
onit. ! A T Y

17. Your answer sheél{-will be evaluated through electronic scan-

ning process. Incomplete or incorrect entries may render your

answer sheet invalid.

“|'18. Carefully fill in all the necessary particulars on the answer

~ sheet.Change of answer sheet is not permitted.

19. While darkening the appropriate bubble(s) in the boxes darken
the chosen bubble(s) fully as giyen below. If you darken more
than one circle, your answer will be treated as wrong\a‘md such

answer shall not be evaluated. ¢

the candidature and debarring him/her from future examination. |

shall lead to cancellation of candidature and such OMR answer

- HE IR T A A a0 A A e iR H

i over the candidate’s copy after separating it. The cg.ndidatgs{' :

i’ e e 3 e e e e i & o @ S o

| S AT W 3 G § SO snatar e @ a |

ST e ey F it ST arelt henS § Sufed g w o
wfE~ @ f&ar ST | OMR W wd W e & fag
@, G, IS, Ty O TEH/ATER AT % SYanT S
“Fdll 1 WER § & g9 9T angdl 1 OMR I T
fireet @ ST ST T8 OMR WX T3 &1 oA Tel a1

S | - ; ; .
10. Feffiaa wdie & Fodteror & w45 H ¥av ¥ Yo Aol &
sfRad, CCTV H93, aadies 43 § 3 & f[om wdt
Sufiefey AT, Piet e, SR ST Y w1 W S
mﬁa%m%qma?wrﬁrmmwmmww
HIE I T T X T b 2% s
11, e A § TREdT a7 TR § Wi % IRadT & §6Y 5
fopelt ¥t amaredt i AT 9T faEr R fhAr Sem |
12, TREE FRT AT A7 SurEt T § angdt & @ fag
g W o e et @ fean s | e SR 36

et T T S-S e A B | Sna T S
T T W <7 | gl Ui e Ui gRT e

VAR E
7o
R | e W % I % T OMR WY S | $9 39 U6
: F 0 R W I ¥ R vk SO wEed € | 7@
: 'mmmmmmﬁﬁmmﬁa‘iﬁ&a
S CREFAE | A B 9 F T G H WA T8 S E
. 3% et 3w 3 for 2 ittt it vy fvr T & 59 I
| A, T feRar S | e
15 TR & W ST 3T At e & SR Tt o anadt @
- WEA (& o) § S @ et & s~
16. ot it anzrefl H OMR SR T J
<3 ¥ OMR IR T Wit UE TT¥ T IREe 35 W
T, o TV ST R o S SR 39 9T e o
17. 3% IOETFF Bl AT Folaeien SHeT HEET § @ S |
TRT 9T T WA W AR SR-TTH AT & FHA €
ITTE H 9T E |
IR-TTH & TS B FHAAIE | |- _
19. SR 3 HET M/ B O T A T w F FE e
I T | AT 39 U R 3ffees e B HEAT FHA ¢l HH IW
TR JA SO S T I H GRS T A |

WRONG METHODS / Tt e

\[ CORRECT METHOD / Tl i
PeO® (I

) @FE0 OROE A OO

TR
| 20. If a candidate does Tlgot comply with the,instructions as,

, . mentioned above or creates-any kind of ipdiscip]irie. the

Commission shall take, action,as ’ch instructions and in
addition can also debar ‘he candjdate from appearing in the
.Examination, to be held in future and can also file criminal

proceedings.

20. 3T B 3t IR e o 9T A et & A S
" ST & A ST FRYER see faee SEE w1,
3 T atffea S ufasy o o Al wenet @ o

. difea fomar s WA € | Sw faeg ot wEER @
g oft 7t femar 1 e ¥ '

SIS T I T e |,
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